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Assignment 2D.1

For each of the following, determine the amount that needs to be added to complete the square. Then use
this value to complete the square and factor the expression. (Use fractions when necessary)
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Complete the square to rewrite the folauing-equattomsimrvertextorm. Then find the coordinates of the

vertex and the equation for the axis of symmetry. X?+bx
a %
@}’ x? +12x -\'36) — 36 4. y=4x?—-12x y= qé";)(‘rj;‘?
2 _ 2. )
(1;)-25 =(x+6)~3& y= 403 4

SR
Xs:  X=-6
OE >

\l" -2( 3y »36—)

=t (T")*’ KRG
- =
9. Suppose we take the paranla y = x? and we move it 5 units up, 6 units left, and flip it upside down.

Find the standard form equatlon of the new parabola.
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